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D IREEEL (88) 10 12
EHEFH (58) 11.1 += 242 112 = 194
EBAE (kg) 132 += 0.18 141 + 0.22
THZLEATREESK (58) 109 + 251 106 =+ 2.11
Bt FLEEZK (58) 105 =+ 2.17 103 + 1.95
BEELRFAE (kg) 7.40 *+ 099 8.36 + 1.67
B E (%) 97.0 + 6.26 96.9 + 547
#F2 FEEIONC & AREHRE
HAEEA LWD WLD
I, - 63 56
WETA ) (ff - 31, 5 32) (It : 28, F54: 28)
110Kg ZliEH#E  (H) 156.2 = 104 151.9 = 134
H& T RERHAER (Kg) 112.2 £ 2.30 111.8 = 1.89
1 RSmkE (g) 7116 * 508 7315 * 622
L ARE (Kg) 76.94 + 2.27 75.55 + 1.61 % %
ERET (cm) 94.96 + 2.56 94.57 + 3.08
WHEEI (cm) 69.09 = 2.01 69.42 + 3.17
&R (cm) 33.89 + 0.96 33.85 = 0.89
HHEMG (B #) (cm) 3.57 = 0.45 3.79 = 0.49
WHENG (&) (cm) 1.77 £ 0.4 1.93 + 0.44
wHEN (=) (cm) 2.77 + 0.39 2.90 + 0.47
3 AL (cm) 2.71 + 0.32 2.88 + 0.40
Z VR (cm) 2.60 = 0.40 2.83 *+ 0.52
A (cm) 1.71 £ 0.38 1.85 = 0.55
A% (cm) 2.53 = 0.46 2.81 = 0.54 % sk
71 2B A (%) 29.86 *+ 1.09 30.26 + 0.78
72— NZEE (%) 38.34 + 1.91 39.33 + 1.33
MNLEIE (%) 28.44 + 1.04 30.41 *= 0.99 % %k
7 — A W FE (cni) 21.47 = 3.09 22.68 + 3.40 *
* 1 p<0.05 kk o p<0.01
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